SOLUTION OF SAT-1
SEMESTER-II, 2020

Subject: Mathematics

Course Code: MTMACOREOAT
DATE OF SAT-1: 16/04/2020

Teacher: Dr. Prasanta Paul

1. a) Solve, using the method of undetermined coefficients: (D? — 3D + 2)y = 14 sin 2x — 18 cos 2x.
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1. b) Solve, (x?D? — xD + 4)y = cos(log x) + x sin(log x), where D = %.
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2. a) Solve by method of variation of parameters: (D? + a?®)y = tanax.

SOLUTION: See Diff. Equation Book by Gosh & Maity Page Number 226, Example 5.7.37.

2. b) Solve, using the method of undetermined coefficients: (D? + 4)y = x? sin 2x, where D = %.

SOLUTION: See Diff. Equation Book by Gosh & Maity Page Number 210, Example 5.7.27.

3. a) Solve, (x2D? — 3xD + 5)y = x? sin(log x), where D = —
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3. b) Solve by method of variation of parameters: (D? + 4)y = cosec 2x, where D = d
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